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Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)

39 AGAAR F & AT §| HET o #F IR ueT R smr &
a9 &

There are TWO PARTS in this Module / Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.

T T “dhfoush’ YRR HT § SR Fo 3w 40 § T smr @,
‘SAFARF” TFR & IR $6F Ter 3% 60 T

PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.
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Candidate cannot leave the examination hall / room without
signing on the attendance sheet and handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module/Paper.
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.
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Note: In case of any discrepancy found in Hindi language, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




HTT Tsh / PART ONE
@sft oAt & 3aX &/ Answer all the questions)

1. Y 9AF T F 3 F 5 RAFew BY 7w §
TF FAU 39gFd RAFed g AN ¥ AT = &
WY 39ee¥ T AT “HTANR” 3/ 995 A,
A Ru 7w et & IeER, oof =
Each question below gives a multiple choice of
answers. Choose the most appropriate one

and enter in the “OMR” answer sheet supplied
with the question paper, following instructions

therein. (1x10)
1.1 # TIRIUTAET A, e & vk gE A 93
|
A) ITSTANTH B) ge HgX
C) acas D) I3eq

In the original ARPANET,
connected together.

were directly

A) IMPS B) Host Computer

C) Network D) Routers

12 secteica # f&afker & e fafs & v
STTAH THT HT YA I T AT 872

A) fSFd R B) UTellheld o X

C) scfelsd iR D) #Acdsh R

Switching in Internets done by using datagram
approach to packet switching at the?

A) Physical layer B) Application Layer

C) Datalink Layer D) Network Layer

1.3 &t 3med wg A @i @ AT NTEITS Aisd &
THIIE X & FAATR 87

A) TR B) @&re-T-gee

C) &=t D) #cas THH
What layer in the TCP/IP stack is equivalent to the
Transport layer of the OSI model?

A) Application B) Host-to-Host

C) Internet D) Network Access

1.4 X & faflse ereq — WWWW T qof &9 &
A) dc3 dIEE dASessE aAd
B) dcs args fddw aw
C) des args ag a
D) dcs arss faaw de
The computer jargon - WWWW, stands for:
A) World Wide Wildlife Web
B) World Wide Women's Web

C) World Wide Web Worm
D) World Wide Women's Week
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1.5 378 O HiT TT JSW TS FH JI7 787 872

A) ForH § B) Fera &

C) arg 31 D) Fard S
Which of this is not a class of IP address?

A) Class E B) ClassC

C) Class D D) Class G

1.6 ogad e IR & AT W THETATS T A
TIeT H?

A) <h6> B <hl>

C) <heading> D) <header>
Choose the correct HTML tag for the smallest size
heading?

A) <h6>

C) <heading>

B <hi>
D) <header>

1.7 &l & siafaffa f&aftr fder & owarg g a3 82

A) size() B) length()

C) index() D) 3Wad § q Hg AT
Which built-in method returns the length of the
string?

A) size() B) length()

C) index() D) None of the above

1.8 9 so7eT TR T FIAT Tl Tl 82

A) gEaES B) 3iffsar

C) aifzar D) 3IWiwd T
Search Engines are able to search type
of information?

A) Documents B) Audio

C) Video D) All of the above

1.9 ereg “GTAFYIA WIIel UgeH” H WA ¢
A) TA-Facd B) STeTehRY
C) ¢339 D) 3Wied walr
The term ‘Intellectual Property Rights’ covers

A) Copyrights B) Know-how
C) Trade dress D) All of the above

1.10 <b> &1 & 3faRera, ST a1 307 &7 TFee F e

T 87
A) <black> B) <strong>
C) <bold> D) 3WRIFd # & FI 7T

Apart from <b> tag, what other tag makes text

bold?
A) <black>
C) <bold>

B) <strong>
D) None of the above
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2. @R &I T 9w f@AEor I ar ¥ A1 T B
TF Fad 39gFd fAFew g IR e Rwew
gl U & Y ITsy FTC T “FHTANR" W
wF A, 39 R v @& F s, oo X

(1x10)

2.1 Sfrar f&Rte IRFTST YRR F oledaT gl

22 3elAE @ F3 YR @ IHTh FYX W Bl F
3HROT &1 IfhAT &I SBATET Fga 1

2.3 sfasfier o3 ucds e o6 agoldr gl

2.4 39 9 GiAd A & AT, g7 Th Asg T FAT FA
g 0 Twadr Fga €

2.5 12.0.0.1 FTH T &7 ol 3med wsH &)

2.6 T ot d-as@ 3R urls F AT TN TAT @A
gl

27 U X WUA H 38 YT STGERAT H
U] FA b GO W SAT-3h-afdH  3th
&g &

2.8 Tar Hr fafgr FEd garor g fGemst & gar g,
Afhed Th TAT H Hhad TH TGl H gar § 39
RAFaeed Fad ¢l

29 THIETAS & YO T HeAIIH Feclelc  Hel
TFIEYUT B

2.10 He@dW F 3T A AN I 3TEET wdhd gar g,
Afthed aredd & fwes # afd ggardr & a1 g@y A
forew & wawr &1 3eTAfT & § 30 UF ot @6 ©
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Each statement below is either TRUE or FALSE.
Choose the most appropriate one and enter
your choice in the “OMR” answer sheet
supplied with the question paper, following
instructions therein. (1x10)

2.1 JavaScript is loosely type language.

2.2 The process of transferring files from a computer
on the Internet to your computer is called
Downloading.

2.3 Dynamic address doesn’t change every day.

2.4 To create Web Pages, we use a term called FTP.

2.5 12.0.0.1 is private IP address of Class A.

2.6 Search Engines maintain heavy database of
keywords and urls.

2.7 An attempt to make a computer resource
unavailable to its intended users is called denial-of-
service attack.

2.8 The

transmission takes place in both directions, but

method of communication in  which
only one direction at a time is called Simplex.
2.9 MIME stands for

Extensions.

Multipurpose Internet Mail

2.10 A piece of malware that appears to be benign or
useful, but actually causes damage to the system
or allows another to gain access to the system is
called a Trojan.
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3. o X # ¥ 77 erea) 3R arrat w1 RS A Y # Y v Aveaw gafa e / el / gt &
| A9 RAFed wod o9 F 7T B 10 oA 3w = A, 39d BY v et F1 g w1
gT, &t | (1x10)

X Y

3.1 | veacf@ee ATR3T ovds A | 39 99T B FY UeiT Y

3.2 | ziafAY Fuetd Maidia 3R Secisic Wethrd B. |30

3.3 | SermH Wil (UDP), digaar d gFeey § C. 128bits

34 | mréarg T ST3eR @ dEdr B D. |SMTP

35 | wew & Aou & T vfafafica geqa aar & E. | aRieaads a9 wIsd

36 |39 A= ZaRT ST [T F. | XML

3.7 | 255.255.255.224 el ATEH ST JAT A dlel TART FaaAT G. | 3= o
R fAfese fFd ST Thet arer 3MSHY vgdt Y fedH TEar

38 | s IPv6 U3 fohdelT oFeT &7 H. | TCP/IP

39 | GBd aRRE T@T A H Heldd T © L. |60

3.10 | fr:qesh 3UesY WA HI5 J. | dfee

K. |q&
L. | ws3C
M. toString()

4. T R 77 vAw amg & AT & 1€ & @ v aeg A1 A A fAEd F QA Rea wu= o &
T WaW 39gFd RAFeq g AR W v & Wiy oA AT “HUAIR” IR g9F A Hqee F 9T Fa
g‘tramﬁﬁwqaﬁa#| (1x10)

A. <BR> B. WWW C. <script>

D. |<HR> E. |geeaie bot F. |VBScript

G. |25 H. |Star l. EA-31Rues
J.  |www Bot K. |<META> L. ooy arra
M.  |far

41 @ NS WerhieT g

4.2 Teh AT+ Sih Flold el & fov vadlvATer&ar g

4.3 I 3 Jdie 3T Fgr ST g

44  YIRTA R QOIETE |

45 TSI ColchIH IR SITdT fEshte &1 U fashed gl

46  __ 9T%H FI TH §9 g il CCIARRH AIFCAX GaRT Il oMU Slel & 38 391t o folw ¥ose §9 &7 SRR
[ERIERI

47 &I TIEIUHATS T Ueh AEIR ¢ o ges ary fnaY off eam & Sirar f&hee faavor Teed 8 @and 8

48 &I TIEUHUS SEATGS F aR H AT UeTe T g

49 TETHINBHeccTTAITHNNE T 3T HIAT g

410 THHAISA YR T $7ifes SrdteiTsir st et foa]|
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3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,
following instructions therein. (1x10)

X Y

31 Extensible Markup Language A. How to display web page

3.2 | Transmission Control Protocol and the Internet Protocol B. 30

3.3 | Datagram Protocol (UDP), queues are associated with C. 128bits

3.4 | Markup Tag tell the browser D. SMTP

35 | Returns the string representation of the number's value E. Executable file

3.6 | Web standard build by = XML

3.7 | Maximum number of IP addresses that can be assigned to G. Open Source
hosts on a local subnet that uses the 255.255.255.224 subnet
mask

3.8 | Howlongis an IPv6 address? H. TCP/IP

3.9 File virus attaches itself to the [ 60

3.10 | Program Code freely available J Socket

K Port
L. wW3cC
M toString()

4, Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.
Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with
the question paper, following instructions therein. (1x10)

A. <BR> B. Uniform resource locator <script>

D. <HR> E. Internet bot VBScript

G. |25 H. |Star Stream-oriented
J. WWW Bot K. |<META> Stealth virus

M. Ring

4.1 TCPisa protocol.

4.2 HTML tag for creating a line break is

4.3 also known as web robot.

4.4 URL stands for

4.5 An alternative of JavaScript on windows platform is

4.6 is a form of virus explicitly designed to hide itself from detection by antivirus software.

4.7 tag is an extension to HTML that can enclose any number of JavaScript statements.

4.8 The tag provides metadata about the HTML document.

4.9 SMTP by default uses TCP port

410 FDDI used type of physical topology.
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T &Y / PART TWO
(gt IR yeall F 30X & / Answer any FOUR questions)

5.

a) AT Soldl &FIT §? HACHY Sold & ot 3R
giferar & 82

b) $-H I THAT T AT FL| $-AT Aofer 3R wred
A & v gAneT R S arer diehid Far §7 8T
H ogrear F

c) WIIRdldl T §? BRRAIA & HAHd YRl &
SATEAT A |

a) What is a Metasearch Engine? What are the
advantages and disadvantages of Metasearch
Engine?

b) Explain structure of e-mail. What are various e-malil
protocols used for sending and receiving e-mails?
Explain in brief.

c) What is firewall? Explain the basic types of

Firewalls.
(3+6+6)

a) frfaf@d 3mpeqe god A & fOr v
TIETATS His ford:

a) Write an HTML code for creating the following
output:

Online Courses

1. Web Programming
=  HTML5
= C(CSS3
= JavaScript

2. PHP Framework

= Laravel
= Cupcake
=  Slim

25% Discount for first ten students Contact us on 9900990000

Online Courses

1. Web Programming
= HTMLS
= (CSS3
= JavaScript

2. PHP Framework

= Laravel
=  Cupcake
=  Slim

25% Discount for first ten students Contact us on 9900990000

b) Sirar f&kte T §? U TR died A s i uifafed
HEAT 3A9e & fAU v Smar fEeee wame fod sk
Ig yeidid &Y & a1 Ig [eHue g&ar & ar J81?

C) @eeR &I 3R T &1 & i AR 9dIU, 3SEI0T &
Y TIST HY| Th TASTATS Gedldsl H 100px
Tie$ 31X 50px FaT$ HY AT H HH AT HLar?
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b) What is JavaScript? Write a JavaScript program to
input any positive number in a Text Box and
display whether it is a palindrome number or not?

c) Give difference between Container tag and Empty
tag, explain with example. How do you include an
image with width is 100px and height is 50px in an
HTML document?

(5+5+5)

a) scas Aderel FT g? Rffied yer f Aeas
TIATetol FAT §2 AU edieiisl & aR & Jdrg|

b) & / 3N FER F FAgcaqol RS erhr ¥
A / TS AlsT & I F AH | TS R
& #r foad | S / 3EW AlseT & o7 IR AV fod |

a) What is the network topology? What are the
different types of network topology? Discuss Mesh
topology.

b) TCP/IP plays important role in Communication. List
the layers of TCP/IP model. Write the functionality
of each layer. State merit and demerit of TCP/IP

model.
(7+8)

a) A9 BT FT &2 e v & gfdee &
SITEAT HY|

b) FINTS FAT §? TH FIRTA N T T grear
72

C) IEHIOT FAT g2 PIEOT AT FIAT §2 ‘UISdC T
frectamdr AR ufses @ fhceRmbr & T 3R
ST |

a) What is Web Hosting? Explain different Types of
hosting.

b) What is a URL? Explain the structure of a URL?

c) What is encryption? What are encryption
schemes? Explain the difference between Private
Key Cryptography and Public Key Cryptography.

(5+5+5)
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9. frfaf@a # ¥ Bl i X dftrca fecoott o

a) AT A7 e (Suawy)

b) seeisic 3R Seeic

C) Falsc TS THIfTET 3R TR ABS THITEIT & o
ek dard

d) Swag
Write short note on any three of the following:

a) Domain Name System (DNS)

b) Internet and Intranet

c) Differentiate between Client Side Scripting and
Server Side Scripting

d) e-Commerce
(5+5+5)
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